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6158 | DI | 9.11 6 S| E 075 BRI EZEIE
6157 | DI | 9.11 70 =3 L4 60758 SHXI} B3 7o =
6156 | O | 9.11 80 S [H% 60758 SHRIT} BE 73l 5
6155 | DI | 9.11 10 Jik CHZ 59968 SHEIX} 22 2o =
6154 | DM | 9.11 30 M7 [H% 5892t SHXIT} B3 73 5
6153 | DI | 9.11 40 7 I 37928 SHXIT} HE 72 5
6152 | DI | 9.11 20 M7 [H% 6081H SHXIX} B3 73 5
6151 | DI | 9.1 20 7 [H% 67108 SHXIT} 23 72 5
6150 | DI | 9.11 30 3 SEEIVES 79l 5
6149 | DM | 9.11 10 N7 CHE 50708 SHRIT} 22 72 5
6148 | DI | 9.11 60 7 (4% 59841 SHXI} B3 79l 5
6147 | DI | 9.1 30 7 [H% 671068 SHXIT} & 72 5
6146 | DI | 9.1 10 QN7 [4H 6038 HEIT; HE 7o 5
6145 | DI | 9.11 10 7 (4% 5983t SHXIT} & 72 5
6144 | DI | 9.1 10 M7 CHZ 5990 SHEIT} 22 7ol 5
6143 | DI | 9.11 30 7 [H% 671108 SHXIT} 23 7 5
6142 | DI | 9.1 10 Q47 | [HM 6073 SR} 7o =
6141 | O | 9.1 20 QM7 | [HE 54948 SXIT} BE 73 =
6140 | DI | 9.1 30 7 SEEIVES 7ol =
6139 | OIHH | 9.11 60 =3 (4% 60758 SHXIT} B3 73l 5
6138 | DI | 9.11 80 == L4 60758 SHXIX} B 7ol =
6137 | DI | 9.1 30 =3 SEEIVES 73 5
6136 | DI | 9.1 50 7 DHE 60758 SHRIT} 22 2 5
6135 | DI | 9.11 50 ] [4% 60758 SHRIT} B2 73 5
6134 | DI | 9.1 40 QM7 | [HM 6075 SHEIX} B 72 5
6133 | DM | 9.11 80 =] (4% 6079 SHRI} B3 79l 5
6132 | DiME | 9.11 80 57 [H% 60758 SHXIT} & 72 5
6131 | DI | 9.11 10 M7 [HT 61274 SHRI} B3 79 5
6130 | DI | 9.1 40 3 [HE 671278 SHXIT} B3 72 5
6129 | DI | 9.1 60 M7 SEEIVE 79l 5
6128 | DI | 9.11 30 == SEEIVES 73 5
6127 | O | 9.1 10 Jm| SEEIVES 7P 5
6126 | DI | 9.10 20 ox7 SEEIVES 73l 5
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6091 npukal 9.10 70 =2 [HH 5932H XX}t 2t Al &
6090 | OifH# | 9.10 80 V=t [H& 5932 SHXIX} & =Rl
6089 npukal 9.10 70 =2 [H& 5932 =HXITt 2t Al &
6088 | OIXH# | 9.10 70 e [HE 5932 SHXIX} & ol =
6087 | DIt | 9.10 70 =3 [HE 5932 SHXIX} 2 2| =
6086 | OIXH# | 9.10 50 =37 ASIEAL =Rl
6085 | DIt | 9.10 60 =3 [H& 59328 SHXIX} 2 22| =
6084 bl 9.10 70 =32 [HH 5932 &4 XITt 2+ 4 3
6083 | DI | 9.10 70 =t [HE 5932 SHXIX} 2 a2l =
6082 | OIXH# | 9.10 10 M3 [HE 6027 SHXIX} & =Rl
6081 | DIt | 9.10 10 M3 [HE 5989 SHXIX} & 3| =
6080 | DIt | 9.10 50 =37 & 60798 SHXIX} & =Rl
6079 | DI%H# | 9.10 50 M3 ASIEAL ZHa| =
6078 npuksl 9.10 30 7 HAstX AL B 4 =
6077 | DI | 9.10 10 =3 [HE 60158 SHXIX} 2 a2l =
6076 ipukal 9.10 20 e HAstX AL B 4 3
6075 | OIfHE | 9.10 50 £ ASIEAL ol =
6074 npuksl 9.10 20 M3 HAstX AL B 4 &
6073 | OifH# | 9.10 10 QM3 ASIEAL ol =
6072 npukal 9.10 60 M3 & 6020 XXt 2+ Al &
6071 | OI%H# | 9.10 10 M3 [HE 60198 SHXIX} 2 ol =
6070 byl 9.10 10 e [H& 6035 =HXITt 2t 4l &
6069 | OIXHE | 9.10 10 M3 [HE 60198 SHXIX} & =Rl
6068 npukal 9.10 20 M3 [H& 6020 =HXITH 2t 40 3
6067 | OIXH# | 9.10 40 =3 [HE 6066 SHEIX} & =Rl
6066 | DOIfHE | 9.10 40 =3 [HE 60188 SHXIX} 2 a2l =
6065 | OIXHE | 9.10 20 M3 [HE 60268 SHXIX} & =Rl
6064 | DIt | 9.10 40 M3 ABIEAL ZHa| =
6063 ilpglsl 9.10 10 e [HH 6066H &HEIXt 2+ 4d 3
6062 | OIfHE | 9.10 50 V=t CHE 607118 SHXIX} 2 a2l =
6061 | DIfHE 9.9 60 Qa3 [HE 59788 SHXIX} & Ha 5
6060 | OIxHEH 9.9 40 V=t ASIEAL S a2l =
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6025 1pkad 9.9 30 =3 [H& 5932t =tXIXt 2 A 5
6024 OlxHe 9.9 30 == [H& 5932 =HZITt £+EH 4d s
6023 1pka 9.9 30 s+ RIS A 5
6022 OIXHE 9.9 10 F4+ & 5989 =HZITt &+ 4d s
6021 1pkd 9.9 40 M= [H& 59964 =tXIXt 2 A 5
6020 OIXHEH 9.9 20 M+ ES 1 734 XT3 Ad &
6019 OIxpe 9.9 10 B [H& 59894 =tXIXt 2 A 5
6018 Ixhe 9.9 30 NE E=EIE IS Ad &
6017 Ol xHE 9.9 20 F84 RIS 4d 5
6016 Ixne 9.9 50 s+ [H& 5999 =HXIT} 23 Jd s
6015 Ol xHE 9.9 10 NE [H& 5989 =HXIT} 4d =
6014 | DItHHA 9.9 60 s+ & 59324 =tXITt 2 s
6013 Ol xHE 9.8 10 ER [H& 58424 =tXIXt 2 4d =
6012 Ixpe 9.8 20 =S [H& 60118 =TIt 23 A s
6011 Iyl 9.8 20 =3 S EEIN S 4d =
6010 Ixpe 9.8 40 f84 RIS A s
6009 OIXHEH 9.8 20 F83 EIEINES Fa 3
6008 | DOItHH 9.8 50 M+ [H& 59804 =HXIXt 2 A 5
6007 OlxHe 9.8 50 INE [H& 5980 =HEIT}; 3 4d 5
6006 Ixpe 9.8 50 M+ & 57564 =HXIXt 2 A 5
6005 Ol xHE 9.8 10 s+ & 5979 =HXITt 2E Ad &
6004 | DItHH 9.8 10 F87 [H& 5842t =tXIXt 2 A 5
6003 1PN 9.8 20 M+ & 59154 =hXITt 2E Ad &
6002 Ixpe 9.8 20 M+ [HE 5991 =hXIT} 2He A 5
6001 Ixhe 9.8 10 M+ [H& 5901 2HEIT}; 3 Ja s
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